Frequency Plan
Uplink

Telecom 2A

6425

00'6.£9

C7A
C7B

—00'6.€9

007,29

C6A
CeB

—00'v.29

00'06T9—

C5A
C5B

—00'06T9

C-Band Beam

00°2ET9

C4

007209

C3

008009

C2

(=]
LO)|

000566

C1

LHCP

9925
RHCP

X-Band Beam

8400

80

00'GGES

===—((‘0.28
===—()(‘0528
===-(0'0£28

-Voo_mmﬁw

000,08

o
<
o
©

00'0€6.

LHCP
7900
RHCP

14250

—00'¢eerT

K11

00'TTZYT

—00'06THT

K10

00°69THT—

K4

—00'8VTPT

K9

00°L2T¥T

France Beam

K3

—00'90THT

K8

00°G807T—

K2

— 0079077

K7

00°€V0rT—

K1

—00'22orT

Vertical
14000
Horizontal

Downlink

4200

00'VSTY—

C7A
C7B

—00'vSTY

00'6170t—

C6A
CoeB

—00'601

00°'G96€—

C5A
C5B

—00'G96E

C-Band Beam

00°206€—

c4

00'6178€—

C3

00°€8.€—

C2

(=)
L0

00°'GZLE—

C1

RHCP
3700
LHCP

X-Band Beam

7750

80

00'50LL

===—(('0T9.
===—(0‘065.
==2(0'0.G/.

-Voo.mwvm

00'0¢L

00'GGEL

60 ‘ 40 ‘

00'082¢L

RHCP

7250
LHCP

12750

—00'ceLeT

00'TTLCT

K11

—00'069¢T

00'6992T—

K10

K4

—00'8¥9¢T

K9

0022921

K3

France Beam

—00'909¢T

K8

00'G8G2T—

—00'79G¢T

K7

00°'€¥SZT—

K1

—00'¢esetT

12500

Horizontal
Vertical

Beacon 1: 3816,00 R
Beacon 2: 12500,50 V
Beacon 3:12502,50 H



